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Only part of the solution.
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@Test

public void printPortfolioCriteria() {
// given
iBoughtShares(0LD_SCHOOL_WATERFALL_SOFTWARE_LTD, amountOfShare: 1006, LocalDate.of( year: 1998, month: 2, dayOfMent
iBoughtShares(CRAFTER_MASTERS_LIMITED, amountOfShare: 400, LocalDate.of( year: 2016, month: 6, dayOfMonth: 9));
iBoughtShares(XP_PRACTITIONERS_INCORPORATED, amountOfShare: 708, LocalDate.of( year: 2018, month: 12, dayOfMonth: 18
iSoldShares(0LD_SCHOOL_WATERFALL_SOFTWARE_LTD, amountOfShare: 500, LocalDate.of( vear: 2018, month: 12, dayOfMonth:
currentShareValue0f(0LD_SCHOOL _WATERFALL_SOFTWARE_LTD, BigDecimal.value0f(5.75));
currentShareValueOf(CRAFTER_MASTERS_LIMITED, BigDecimal.value0f(17.25));
currentShareValueOf(XP_PRACTITIONERS_INCORPORATED, BigDecimal.value0f(25.55));

// when
printPortfolio();

/] then
String expectedOutput =
"company | shares | current price | current value | last operationﬁﬁ" +
"Old School Waterfall Software LTD | 560 | $5.75 | $2,875.00 | sold 580 on 11/12/2018\n" +
"Crafter Masters Limited | 400 | $17.25 | $6,900.00 | bought 408 on 89/06/2016\n" +
“XP Practitioners Incorporated | 700 | §25.55 | $17,885.60 | bought 760 on 108/12/2018";
outputShouldBe(expectedOutput);
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Let's get our Hands dirty!



Solution to all our
Problems?@








mailto:david.braeutigam@css.ch
https://github.com/baumartig

